GMAT Verbal Section : GMAT Sample Critical Reasoning Questions

Critical reasoning questions are a part of the verbal section of the GMAT entrance exam. Each critical reasoning question is composed of three parts namely the statement or an argument, the question and finally the options. There are five choices for each question and you have to select the best option based on the question for that particular sentence. 

Let us have a look at some sample questions based on critical reasoning pattern. 

If you drink beyond the permissible limits then your health benefits are lost and your health risks go up. 

The statement above logically conveys which of the following? 

Consuming more alcohol will be more beneficial for your health 

Your health benefits will be lost increasing your health risks if you drink more than the recommended quantity 

You can drink more than the allowed quantity and get more health benefits 

If you drink more you will get more health benefits and reduce the risks of harming your health 

You should not consume more alcoholic beverages because it will not be very beneficial 

Correct answer: b 

The non-alcoholic contents of wine, such as flavanoids and resveratrol, serve as antioxidants that prevent the “free radicals” or the special type of molecules from damaging the vital body cells. 

The statement above would be weakened if it were true that 

The non-alcoholic contents of wine such as flavanoids and resveratrol do not act as anti-oxidants 

Flavanoids and resveratrol function as anti-oxidants and thus benefit the body 

Special type of molecules known as “free radicals” damage the cells in the body 

Wine also contains non-alcoholic chemicals along with the alcoholic chemicals 

Wine is very harmful if consumed in excess 

Correct answer: a 

Severe smoking can significantly damage the natural capability of the blood vessels to contract and relax. 

From which of the following can the statement above be most properly inferred? 

There are very harmful effects of severe smoking 

You should not smoke at all if you do not want to damage your blood vessels 

Our blood vessels have a natural capability to contract and relax which can damaged to a great extent if you smoke at a high level 

In order to prevent any damage to your blood vessels and their natural ability, you should stop acute smoking 

 The blood vessels have a natural ability to contract and relax 

Correct answer: c 

The geographic origin of the grapes as well as its type and its way of processing play an important role in deciding the nutritional value and the amount of antioxidants in it. 

The statement above logically conveys which of the following? 

The nutritional value and the antioxidant content of the grapes cannot be determined by its geographic origin 

You should consider number of factors in order to find out the quality of the grapes 

The quality and the anti-oxidant content of the grapes is decided not only by its geographic origin, but also to which type it belongs and how it is processed 

 You should eat only well processed grapes because these grapes are rich in anti-oxidants 

There are a number of factors that decide the quality and the content of the anti-oxidants in the grapes 

Correct answer: c 

Some scientific researches have proposed that though the content of anti-oxidants in the whole grapes is same as that of grape juice and red wine, they provide the body with additional dietary fibre. 

From which of the following can the statement above be most properly inferred? 

The whole grapes deliver the same amount of antioxidants that are in grape juice and wine 

Consumption of whole grapes have the added benefit of providing the body with dietary fiber 

You should always prefer whole grapes over grape juice and red wine because whole grapes not only provide with the same amount of anti-oxidants just as the red wine and the grape juice does, but also provide us with dietary fibre 

Unlike the whole grapes, red wine and grape juice cannot provide the dietary fibre 

The whole grapes are more superior than red wine and grape juice because of the additional dietary fibre that it provides to the body 

Correct answer: c
